
XVI Warsaw Solving Grand Prix 

Open - 25.11.2017 

 

Arbiter: Ryszard Królikowski 

 

№ 1. Arthur Mosely, Brisbane Xmas Card 1920, 2nd Prize  1. Sd5! (5)    

№ 2. Alfred Figdor, Chess World 1947    1. Sc5! (5)  

 

 

№ 3. William McArthur, The Leader 1918-19, 2nd-3rd Prize 1. Ra3! [2. Qb5+] ● 

1... Bc6 2. Sxc6+ ● 1... Bd5 2. Qa5+ ● 1... c6 2. Sde6 ●  

1... Sxd4 2. Qa5+ ● 1... Sd2 2. Sxc2+ ● 1... c1=S 2. Sge6 ● 

● (0,7)  ●● (1,4)  ●●● (2,1)  ●●●● (2,8) ●●●●● (3,5) 

●●●●●● (4,3)  ●●●●●●● (5) 

№ 4. William Whyatt, The Problemist 1965, 4th Prize 

1. Qc7! [2. Sf4] ●   ● (1,6) ●● (3,3) ●●● (5) 

1... Rf1 2. Sxd4 ●   1... Rg1 2. Rxd4 ● 

 

 

№ 5. Jan Timman, New in Chess Magazine, 2002 

1.Bf4! Rh5+ 2.Bh2 Be5 3.g3 (1) f5 [4...Rh6 5.Rg7 Rh8 6.Rg4! Rh7 7.Rg8 Rh3 8.Rg6! =]  

5.Rxf5+! (1,5) [5.Ra7? Bxg3 6.Ra2+ Ke1 7.Ra1+ Kd2 8.Ra2+ Kc1 9.Kg1 Bxh2+ 10.Rxh2 Rxh2 

11.Kxh2 Kd2 0-1] 5...Rxf5 6.g4 Rg5 7.Bf4! (1,5) Rxg4 8.Bxe5 Rg1+ 9.Kh2 Rg5 10.Bd4+ (1) = 

№ 6. Andrzej Jasik, original for WSGP 2017 

1.Ne3+ Nc2 2.Qxc2+ (1) Kg8 3.Qd1 (1) exf4 4.Qg4 (1) Qe1+ 5.Qg1 Qh4 6.Nf5 Qh5 7.h7+ Qxh7 

8.Qg4 (1) d5 [8...Qg6 9.Qxh3!, ok (1)] 9.d4 Qg6 10.Qxh3 (1) 1–0 

 
 

№ 7. Sigmund Herland, Revista de Sah 1928 

1. Qh3  Ra1 2. Qxa3+  b4 3. axb3 e.p.+  Rxa3# (5) 

№ 8. Shlomo Seider, Schach-Echo, 1978, 3rd Prize 

a) 1. Kg3 Nf5+ 2. Kxg2 Nxe3+ 3. Kg3 Nf5+ 4. Kf4 Nh4 5. Ke3 Ng2# (2,5) 

b) 1. Kf5 Bf2 2. Kxg5 Bxe3+ 3. Kf5 Bf2 4. Kf4 Bh4 5. Ke3 Bg5# (2,5) 

 

   

№ 9. Baldur Kozdon, Troll 2000 

1. Rd5! [2. Qf7#] 1... Rxd5+ 2. Kb7 Rc5 3. Sd5 (2,5)  2... Re5 3. Sxe5 (2,5) 

№ 10. Josef Breuer, Stella Polaris 1968 

1. Sb5! [2. Sd4#] 1... Kf5 2. h3 [3. hxg4+]   2... gxh3 3. Sd6+ Ke6 4. f5+ (2,5) 

2... gxf2 3. hxg4+ Ke4 4. Sxc3+ (2,5) 

 

 

№ 11. Christian Poisson, Vodka Tourney, WCCC (Wageningen) 2001, 3rd Prize 

1. Kd3! zz 1... Bg1 2. Ke4+ Bd4 3. Bf7 (2,5) 

   1... Sf2+ 2. Ke3+ Sd3 3. Qxg5 (2,5) 

№ 12. Jan Rusek, Springaren 1955, 3rd HM 

1. Kd3+ Kf3 2. Kd4+ Kf2 3. Ke5+ Ke2 4. Kf4+ (5) 

 



Problems Difficulty (20  Solvers) 

ID Tag Average 5(Correct Solution) 0 < Pts. < 5 0 (Wrong Solution) - (No Solution)

6 + 0.75 0 7 13 0

5 = 2.20 1 15 4 0

10 #5 2.50 9 2 9 0

12 S#4 3.25 13 0 7 0

3 #3 3.81 7 12 1 0

4 #3 4.00 16 0 4 0

9 #4 4.12 16 1 3 0

7 H#3 4.50 18 0 2 0

8 H#5 4.50 18 0 2 0

11 S#3 4.50 17 2 1 0

1 #2 5.00 20 0 0 0

2 #2 5.00 20 0 0 0
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